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2017 November VMware Official New Released 2V 0-622D Dumps in L ead2pass.com! 100% Free Download! 100% Pass
Guaranteed! In recent years, many people choose to take VMware 2V 0-622D certification exam which can make you get the
VMware certificate and that is the passport to get a better job and get promotions. How to prepare for VMware 2V 0-622D exam and
get the certificate? Please refer to VMware 2V 0-622D exam questions and answers on Lead2pass. Following questions and answers
are al new published by VMware Official Exam Center: https.//www.lead2pass.com/2v0-622d.html QUESTION 61The
administrator wants to power on VM-K2, which has a2GHz CPU reservation. VM-M1, VM-M2, and VM-K1 are all powered on.
VM-K2 is not powered on.The exhibit shows the parent and child resource reservations. 1f Resource Pool RP-KID is configured
with an expandable reservation, which statement istrue? A.  VM-K2 will be unable to power on because there are insufficient
resources.B. VM-K2 will be able to power on since resource pool RP-KID has 2GHz available.C. VM-K2 will be unableto
power on because only 2GHz are reserved for RP-KID.D. VM-K2 will receive resource priority and will be able to power on this
scenario. Answer: A QUESTION 62Which is the predefined user name when publishing a Content Library? A.  adminB. rootC.
administratorD. vecsp Answer: DExplanation:
https://vdc-repo.vmware.com/vmwb-repository/dcr-public/9bf 3c660- 1683-40d5-86be-5b9ac3251c23/d619b70b-9194-4f ac-ad36-92¢
€4669197b/doc/GUID-1C143338-9F15-4474-B773- 1EA447B8BFAE.html (see important) QUESTION 63Which three types of
Content Libraries exist within vSphere 6.5? (Choose three.) A.  Remote Content LibraryB. Published Content LibraryC. Local
Content LibraryD. Shared Content LibraryE.  Subscribed Content Library Answer: BCEEXxplanation:
https.//esxsi.com/2016/12/30/content-libraries QUESTION 64Which is the block size on the VMFS6 datastore? A.  All small and
largefile blocksare BMB.B. All small and largefile blocksare IMB.C. Small file blocks are 512K B. large file blocks are 64MB.
D. Small file blocks are IMB, large file blocks are 512MB. Answer: D QUESTION 65When installing vCenter Converter
Standalone, why must an administrator perform a client-server installation instead of alocal installation? A.  to manage conversion
tasks remotelyB. to convert virtual machines aswell as physical machinesC. to allow installation of the Converter agent on
remote source machinesD. to hot clone physical or virtual machines Answer: AExplanation:
https://www.vmware.com/pdf/convsa 61 guide.pdf QUESTION 66An administrator cannot enable multi-processor Fault Tolerance
(SMP-FT) for avirtual machine.Which are two possible causes for this? (Choose two.) A. The virtual machineisrunning on a
VSAN datastore.B. The Fault Tolerance network is using a 10Gbit uplink.C.  The virtual machine has 6 vCPUs assigned.D. The
virtual machinehasa 1TB VMDK attached.E. The virtual machine has snapshots present. Answer: CEExplanation:
http://www.cloudfix.nl/2015/02/02/vsphere-6-multi-processor-faul t-tolerance-smp-ft/ QUESTION 67What two I T infrastructure
components are virtualized by vSphere Essentials? (Choosetwo.) A. NetworksB. ApplicationsC. StorageD. Management
Answer: AC QUESTION 68Which minor badge items make up the Efficiency badge score for an ESXi host in vCenter Operations
Manager? A. Workload, Anomalies, FaultsB. Workload, Stress, DensityC. Time Remaining, Capacity RemainingD.
Reclaimable Waste, Density Answer: D QUESTION 69An administrator has a virtual machine (VM) that uses a shared USB device.
Which option will allow the VM to utilize vMotion while retaining the maximum possible functionality? A.  Disable the USB
device fromthe VM.B. Configurethe VM to support vMotion while the device is connected.C.  Enable migration support for the
individual USB device.D. Remove the device from the VM. Answer: B QUESTION 70An administrator is configuring an identity
source for Single Sign-On.The administrator will use the machine that Single Sign-On is running on, but does not want all users on
the machine to be visibile to SSO.Which Identity Source meets thisrequirement? A.  Active Directory (Integrated Windows
Authentication)B. Active Directory asan LDAP ServiceC. OpenLDAPD. LocalOS Answer: A Lead2passisagood website
that provides al candidates with the latest I'T certification exam materials. Lead2pass will provide you with the exam questions and
verified answers that reflect the actual exam. The VMware 2V 0-622D exam dumps are developed by experienced I T professionals.
99.9% of hit rate. Guarantee you success in your 2V 0-622D exam with our exam materials. 2V 0-622D new questions on Google
Drive: https://drive.google.com/open?d=0B3Syig5i8gpD TkkwTk43VTR2aGs 2017 VMware 2V 0-622D exam dumps (All 140
Q&As) from Lead2pass: https.//www.lead2pass.com/2v0-622d.html [100% Exam Pass Guaranteed)]
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